
nlntk'/ dxfgu/kflnsf 
gu/ sfo{kflnsfsf] sfof{no

vl/b OsfO{, k'Nrf]s, nlntk'/

k;n sjn ;DaGwL lznaGbL af]nkq cfJxfgsf] ;"rgf 
k|yd k6s k|sflzt ldlt @)&^÷)!÷!%

af]nkq a'emfpg] clGtd lbg M @)&^÷)!÷@( ut] lbgsf] !@M)) ah]leq
o; nlntk'/ dxfug/kflnsfsf] :jfldTjdf /x]sf ljleGg :yfgx?sf] Kofs]h g+= ! b]lv % ;Ddsf tkl;n adf]lhdsf k;n sjnx?sf] Go"gtd ef8f tf]sL bf]>f] jif{sf 
nflu sjf]n dfl;s ef8fdf !) k|ltzt / To;kl5sf jif{x?df cl3Nnf] jif{sf] dfl;s ef8fb/df !) k|ltztsf b/n] j[l4 x'g] u/L % -kfFr_ jif{ cyf{t ldlt )&^ >fj0f 
b]lv )*! cfiff9 d;fGt ;Ddsf nflu lznjGbL af]nkq cfJxfg u/L 7]Ssfdf lbg] lg0f{ofg';f/ k|yd k6s ;"rgf k|sflzt ldltn] !$ cf} lbg sfof{no ;do leq kmf/
fd vl/b u/L !% cf}+ lbg lbgsf] !@M)) ah] leq cfjZos sfuhft ;lxt o; sfof{non] tf]s]sf] lgDg zt{ tyf Go'gtd c+sdf g36fO{ OR5's JolQm jf clgjfo{ PAN/
VAT df btf{ ePsf ;+3;+:yf, kmd{, sDkgLaf6 l/tk"j{ssf] uf]Ko af]nkq k]z ug{ cfJxfg ul/G5 . 
!=	af]nkq kmf/fd o; sfof{nosf] /fhZj k|zf;g dxfzfvfaf6 sfof{no ;do leq ?= #))÷— -tLg ;o ?k}of+_ df lkmtf{ gx'g] u/L vl/b ug{ ;lsg]5 . 
@=	k|To]s Kofs]h cGtu{t k|To]s k;n sjnsf] af]nkq 5'§f5'§} k]z ug'{kg]{5 / vfdsf] aflx/ k§L k|i6 a'lemg] u/L nlntk'/ dxfgu/kflnsf sfof{no n=k'=, k"Nrf]s, 

Kofs]h g+=, k;n sjn g+= / pQm gDa/df tf]lsPsf] k;nsf] lsl;d clgjfo{ pNn]v ug{‘kg]{5 . 
#=	af]nkqbftfn] cfkm'n] sjf]n u/]sf] c+s / cIf/df k|i6 n]Vg' kg]{5  / c+s / cIf/ km/s k/]df jf k|i6 gePdf cIf/df n]lvPsf]nfO{ dfGotf lbOg]5 . 
$=	af]nkq bftfn] jflif{s sjf]n c+ssf] %Ü -kf+r k|ltzt_n] x'g] w/f}6L jfktsf] /sd o; sfof{nosf] n=k'= ufjxfn l:yt w/f}6L vftf g+= )!*)#))))))))#))))$* 

df hDdf u/]sf] ;Ssn ef}r/ ;+nUg ug'{kg]{5 . 
%=	af]nkq k|yd k6s ;"rgf k|sflzt ldltn] !%cf}+ lbg cyf{t af]nkq bflvnf ug]{ clGtd lbg lbgsf] @M)) ah] af]nkq bftfx?sf] /f]xj/df vf]lng] 5 . ;f] lbg ljbf 

k/]df ;f]sf] ef]lnkN6 vf]lng]5 . Dofb gf3L jf l/t gk'/\ofO{ k]z u/]sf] af]nkq pk/ s'g} sf/jfxL ul/g] 5}g . 
^=	P]g lgod adf]lhd a'emfpg' kg]{ ;Dk'0f{ s/ af]nkq bftf :jo+n] a'emfpg' kg]{5 . 
&=	af]nkq :jLs[t ug]{ jf gug]{ ;Dk'0f{ clwsf/ o; sfof{nodf lglxt /xg]5 . 
*=	af]nkq :jLs[tL kZrft ;Demf}tf ug]{ ;dodf cfkm'n] sjf]n u/]sf] dfl;s ef8f adf]lhd b'O{ dlxgfsf] ef8f a/fa/sf] w/f}6L /sd bflvnf ug'{kg]{5 . bflvnf ug{ 

gcfPdf /flvPsf] w/f}6L hkmt ul/g]5 . k|To]s jif{ j[l4 ePsf] b/n] yk w/f}6L a'emfpg' kg]{5 . 
(=	o; ;"rgfdf pNn]v gePsf s'/fsf] xsdf k|rlnt P]g, lgod / af]nkq kmf/fddf pNn]v eP adf]lhd x'g]5 . o; ;DaGwL yk hfgsf/Lsf nflu o; sfof{nosf] 

/fhZj k|zf;g dxfzfvfdf ;Dks{ /fVg' kg]{5 . tkl;n

Kofs]h g+= 1 -k'Nrf]s_

qm=
;+=

k;n 
sjn g+= k;nsf] lsl;d ju{lkm^

k|:tfljt Go"gtd b//]^
qm=;+= k;n 

sjn g+= k;nsf] lsl;d ju{lkm^
k|:tfljt Go"gtd b//]^

dfl;s jflif{s dfl;s jflif{s

1 3=1 sf]N*:^f]/ 120 22,000 2,64,000 8 3=8 vfBfGg 120 22,000 2,64,000

2 3=2 ls/fgf 120 22,000 2,64,000 9 3=9 df;" k;n 120 22,000 2,64,000

3 3=3 :^f]/ -df]lan_ 120 22,000 2,64,000 10 3=10 rfdn uf]bfd 120 22,000 2,64,000

4 3=4 vfBfGg uf]bfd 120 22,000 2,64,000 11 3=11 vfhf k;n 180 22,000 2,64,000

5 3=5 ls/fgf 120 22,000 2,64,000 12 3=12 dlb/f xf]n;]n 180 22,000 2,64,000

6 3=6 vfBfGg ls/fgf 120 22,000 2,64,000 13 3=13 dlb/f xf]n;]n 180 22,000 2,64,000

7 3=7 vfBfGg ls/fgf 120 22,000 2,64,000 14 3=14 sf]N*:^f]/ 180 22,000 2,64,000

Kofs]h g+= 2 -on o"jfno_

qm=;+= k;n 
sjn g+=

k;nsf] 
lsl;d ju{lkm^

k|:tfljt Go"gtd b//]^
qm=;+= k;n 

sjn g+= k;nsf] lsl;d ju{lkm^
k|:tfljt Go"gtd b//]^

dfl;s jflif{s dfl;s jflif{s

1 13=1 df]afOn 153 45,900 5,50,800 7 13=7 df]afOn 60 18,000 2,16,000

2 13=2 df]afOn 153 45,900 5,50,800 8 13=8 df]afOn 96 28,800 3,45,600

3 13=3 df]afOn 153 45,900 5,50,800 9 13=9 df]afOn 156 46,800 5,61,600

4 13=4 *«fOlSng;{ 76.50 22,950 2,75,400 10 13=10 df]afOn 97.92 29,376 3,52,512

5 13=5 *«fOlSng;{ 76.50 22,950 2,75,400 11 13=11 :^]zg/L 97.92 29,376 3,52,512

6 13=6 df]afOn 156 46,800 5,61,600 12 13=12 On]S^«Ls ;dfg 96 28,800 3,45,600

Kofs]h g+= 3
-nugv]n, j*f g+= 5 / 15 l:yt ljB"t k|flws/)fsf] bfof+afof+ /x]sf k;n_

qm=;+= k;n 
sjn g+= k;nsf] lsl;d ju{lkm^

k|:tfljt Go'gtd b//]^
qm=;+= k;n sjn g+= k;nsf] lsl;d ju{lkm^

k|:tfljt Go'gtd b//]^

dfl;s jflif{s dfl;s jflif{s

1 15=1 d;nf k;n 144.75 27,225 3,26,700 20 5=19 s:d]l^s k;n 96.00 16,880 2,02,560

2 15=2 d;nf k;n 78.75 18,150 2,17,800 21 5=20,21,22 ld&fO{  k;n 216.00 27,225 3,26,700

3 15=3 km]G;L k;n 171.00 26,602 3,19,224 22 5=23 ld&fO{  k;n 103.50 14,157 1,69,884

4 15=4 kmnkm"n k;n 157.50 26,602 3,19,224 23 5=24 ld&fO{  k;n 103.50 14,157 1,69,884

5 15=5 df]^/ kf^{;\ 216.00 26,602 3,19,224 24 5=25 ld&fO{  k;n 68.00 23,595 2,83,140

6 15=6 On]S^«Ls k;n 157.50 26,602 3,19,224 25 5=26 ld&fO{  k;n 68.00 15,258 1,83,096

7 15=7 ef+*fs"+*f 162.00 26,602 3,19,224 26 5=27 ld&fO{  k;n 68.00 13,056 1,56,672

8 15=8 cf}ifwL 162.00 26,602 3,19,224 27 5=28 cf}ifwL k;n 190.67 31,635 3,79,620

9 15=9 sk*f k;n 162.00 26,602 3,19,224 28 5=29 ld&fO{  k;n 238.00 31,635 3,79,620

10 15=10 ef+*fs"+*f 162.00 26,602 3,19,224 29 5=30 df]^/ kf^{;\ 208.00 27,321 3,27,852

11 15=11 ef+*fs"+*f 162.00 26,602 3,19,224 30 5=31 dMdM k;n 326.00 27,321 3,27,852

12 15=12 r:df k;n 162.00 26,602 3,19,224 31 5=32 xf]^n 281.00 27,321 3,27,852

13 15=13 :^"l*of] 162.00 26,602 3,19,224 32 5=33 km]G;L k;n 281.00 27,321 3,27,852

14 15=14 kmnkm'n k;n 162.00 26,602 3,19,224 33 5=34 dMdM k;n 281.00 27,321 3,27,852

15 15=15 kmnkm'n k;n 162.00 26,602 3,19,224 34 5=35 ;f]*f k;n 261.00 27,321 3,27,852

16 5=16 s uf]bfd 56.33 9,250 1,11,000 35 5=36 dMdM k;n 176.56 27,321 3,27,852

17  5=16 v Rofp k;n 52.00 8,540 1,02,480 36 5=37 xf]^n 183.00 27,321 3,27,852

18 5=17 df;" k;n 83.00 14,629 1,75,548 37 5=38 d;nf k;n 127.00 17,255 2,07,060

19 5=18 df;" k;n 72.00 23,595 2,83,140            

Kofs]h g_= 4
nugv]n l:yt ldgL dfs]{^ -;8s %]psf]�

qm.;_. k;n 
sjn g_= k;nsf] lsl;d ju{lkm^

k|:tfljt Go'gtd b<<]^
qm.;_. k;n 

sjn g_ k;nsf] lsl;d ju{lkm^
k|:tfljt Go'gtd b<<]^

dfl;s jflif{s dfl;s jflif{s

1 12=1 a]s/L 99=80 28,296 3,39,552 12 12=12 cfn" Kofh xf]n;]n 97=68 14,489 1,73,868

2 12=2 df]afOn 99=80 28,296 3,39,552 13 12=13 cfn" Kofh xf]n;]n 97=68 14,489 1,73,868

3 12=3 xf*{j]o/ 99=80 28,296 3,39,552 14 12=14 cfn" Kofh xf]n;]n 46=12 6840 82,080

4 12=4 :^]zg/L 99=80 28,296 3,39,552 15 12=15 dMdM km\ofS^«L 63=00 37,977 4,55,724

5 12=5 ^\of^" xfp; 98=93 23,185 2,78,220 16 12=16 dMdM km\ofS^«L 63=00 20,691 2,,48,292

6 12=6 kfg k;n 98=93 23,185 2,78,220 17 12=17 df;" k;n 63=00 10,238 1,22,856

7 12=7 ^fo/ k;n 124=50 27,103 3,25,236 18 12=18 kmnkm'n k;n 63=00 10,238 1,22,856

8 12=8 kfg e)*f/ xf]n;]n 111=00 22,160 2,65,920 19 12=19 dMdM k;n 126=00 25,721 3,08,652

9 12=9 dMdM km\ofS^«L 108=00 23,208 2,78,496 20 12=20 dMdM k;n 126=00 16,445 1,97,340

10 12=10 ls/fgf k;n 108=00 13,040 1,56,480 21 12=21 dMdM k;n 126=00 18,658 2,23,896

11 12=11 Knfli^s xf]n;]n 111=00 15,174 1,82,088 22 12=22 kmnkm'n k;n 126=00 20,796 2,49,552

Kofs]h g_= 5

nugv]n l:yt ldgL dfs]{^ -1 - 9�

qm.;_. k;n sjn g_= k;nsf] lsl;d ju{lkm^
k|:tfljt Go"gtd b<<]^

dfl;s jflif{s

1 12=1 df;" k;n 75=00 11,989 1,43,868

2 12=2 df;" k;n 75=00 11,989 1,43,868

3 12=3 ef]hgfno 75=00 12,307 1,47,684

4 12=4 ef]hgfno 75=00 12,307 1,47,684

5 12=5 ef]hgfno 75=00 12,307 1,47,684

6 12=6 df;" k;n 75=00 12,196 1,46,352

7 12=7 df;" k;n 75=00 12,196 1,46,352

8 12=8 dMdM k;n 75=00 11,766 1,41,192

9 12=9 dMdM k;n 75=00 11,766 1,41,192


